T+ 219 23 = —1 1 2 1| |z -1
—3r14+r94+23=0 = |-3 1 1| |xe| =1|0
T+ 225 =1 1 0 3| |z 1
Using the formula Row; := Row; — ( i ) - Rowy,
kk

Ajr. = Ay hence j =2and k=1

A
Rows := Rows — (A—Ql) - Row,
1

=[-3 1 1]—(T)-[1 2 1]
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A, = As; hencej =3 and k=1

A
Rows := Rows — (A—Sl) - Row,
1

=[1 03—z
=[0 -2 2]
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A;p = Asp hence j =3 and k=2

Rows := Rows — (@) - Rowy
Ay

=0 -2 2] - - [0 7 4]
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L _w b
10011}1 —1
Lw=b= |-3 1 0| |w| =10
1 2 1 |ws 1
for j =1 ton
i=1
wl=bl/LIl=-1/1=-1
for i =j + 1 ton:
i=2
b2 = b2 - L21 * wl =0 (-3) * (-1) =
i=3
b3 =b3 - 31 *wl=1-1% (-1) =2
j=2
w2 =b2 /L22=-3/1=-3
for i =j + 1 ton:
i=3
b3 =Db3 - 132 *w2=2-(-2/7) * (-3)
j=3
w3 =Db3/L33=(8/7)/1=8/17
for i =j + 1 ton:
i=4 -> skip
U T w w
121I1 w1 -1
Ur=w = |0 7 4] |z Wa -3
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